

Name = Olamide Amirat Oyindamola

Matric NO = 19/Sci 05/005

College = Sciences

Course Code = Mat 104

Assignment

a) $y = \sin\left(\frac{3}{x^2}\right)$ from first principle

$$y + \Delta y = \sin\left[\frac{3}{(x+\Delta x)^2}\right]$$

$$\Delta y = \sin\left[\frac{3}{(x+\Delta x)^2}\right] - y$$

$$\Delta y = \sin\left[\frac{3}{(x+\Delta x)^2}\right] - \sin\left[\frac{3}{x^2}\right] \quad \text{--- (1)}$$

$$\therefore \frac{A-B}{2} = \frac{3}{(x+\Delta x)^2} - \frac{3}{x^2} =$$

$$\frac{3x^2 - 3(x+\Delta x)^2}{(x+\Delta x)^2 (x^2)} = 2$$

Recall $\sin A - \sin B = 2 \cos\left(\frac{A+B}{2}\right) \sin\left(\frac{A-B}{2}\right)$

Comparing equation (1) & (2):

$$A = \frac{3}{(x+\Delta x)^2} \quad \text{and} \quad B = \frac{3}{x^2}$$

$$\frac{A+B}{2} = \frac{\frac{3}{(x+\Delta x)^2} + \frac{3}{x^2}}{2} =$$

$$\frac{3x^2 + 3(x+\Delta x)^2}{(x+\Delta x)^2 (x^2)} = 2$$

$$= \frac{3x^2 + 3(x+\Delta x)(x+\Delta x)}{(x+\Delta x)^2 (x^2)} = 2$$

$$= \frac{3x^2 + 3x + 3\Delta x(x+\Delta x)}{(x+\Delta x)^2 (x^2)} = 2$$

$$= \frac{3x^2 + 3x^2 + 3x\Delta x + 3x\Delta x + 3(\Delta x)^2}{(x+\Delta x)^2 (x^2)} = 2$$

$$= \frac{9x^2 + 9x\Delta x + 3(\Delta x)^2 \times 1}{(x+\Delta x)^2 (x^2)} = 2$$

$$= \frac{9x^2 + 9x\Delta x + 3(\Delta x)^2 \times 1}{2 \left[(x+\Delta x)^2 (x^2) \right]} //$$

$$\text{And } \frac{A-B}{2} = \frac{\left[\frac{3}{(x+\Delta x)^2} \right] - \left[\frac{3}{x^2} \right]}{2}$$

$$= \frac{3x^2 - 3(x+\Delta x)(x+\Delta x)}{(x+\Delta x)^2 (x^2)} = 2$$

$$\frac{3x^2 - (3x^2 + 3x\Delta x + 3x\Delta x + 3(\Delta x)^2)}{(x+\Delta x)^2 (x^2)} = 2$$

$$\frac{3x^2 - (3x^2 + 9x\Delta x + 3(\Delta x)^2)}{(x+\Delta x)^2 (x^2)} = 2$$

$$\frac{3x^2 - 3x^2 - 9x\Delta x - 3(\Delta x)^2}{(x+\Delta x)^2 (x^2)} = 2$$

$$= \frac{-9x\Delta x - 3(\Delta x)^2}{2 \left[(x+\Delta x)^2 (x^2) \right]}$$

$$\text{Hence } \sin\left[\frac{3}{(x+\Delta x)^2}\right] - \sin\left[\frac{3}{x^2}\right] =$$

$$2 \cos\left[\frac{9x^2 + 9x\Delta x + 3(\Delta x)^2}{2 \left[(x+\Delta x)^2 (x^2) \right]}\right] \sin$$

$$\left[\frac{-9x\Delta x - 3(\Delta x)^2}{2 \left[(x+\Delta x)^2 (x^2) \right]} \right]$$

Divide through by Δx

$$\frac{\Delta y}{\Delta x} = \frac{2 \cos\left[\frac{9x^2 + 9x\Delta x + 3(\Delta x)^2}{2 \left[(x+\Delta x)^2 (x^2) \right]}\right] \left[\frac{-9x\Delta x - 3(\Delta x)^2}{2 \left[(x+\Delta x)^2 (x^2) \right]} \right]}{\Delta x}$$

$$\frac{\Delta y}{\Delta x} = \frac{2 \cos \left(9x^2 + 9x \Delta x + 3(\Delta x)^2 \right) \sin \left[\frac{-9x \Delta x - 3(\Delta x)^2}{2(x + \Delta x)^2(x^2)} \right] \times \frac{1}{2}}{2(x + \Delta x)^2(x^2)}$$

$$\lim_{\Delta x \rightarrow 0} \frac{\cos \left(9x^2 + 0 + 0 \right) \sin \left[\frac{0}{2x^4} \right]}{2x^4} \times \frac{1}{2}$$

Hence, $\frac{dy}{dx} = \frac{\cos 9x^2}{2x^4} //$

1b) $y = \frac{4}{x^3}$ from first principle

$$y + \Delta y = \frac{4}{(x + \Delta x)^3}$$

$$y + \Delta y = \frac{4}{x^3 + 3x^2 \Delta x + 3x(\Delta x)^2 + \Delta x^3}$$

$$\Delta y = \frac{4}{x^3 + 3x^2 \Delta x + 3x(\Delta x)^2 + \Delta x^3} - y$$

$$\Delta y = \frac{4}{x^3 + 3x^2 \Delta x + 3x(\Delta x)^2 + \Delta x^3} - \frac{4}{x^3}$$

$$\Delta y = \frac{4(x^3 + 3x^2 \Delta x + 3x(\Delta x)^2 + \Delta x^3) - 4(x^3 + 3x^2 \Delta x + 3x(\Delta x)^2 + \Delta x^3)}{(x^3 + 3x^2 \Delta x + 3x(\Delta x)^2 + \Delta x^3)x^3}$$

$$\Delta y = \frac{4x^3 - 4(x^3 + 3x^2 \Delta x + 3x(\Delta x)^2 + \Delta x^3)}{(x^3 + 3x^2 \Delta x + 3x(\Delta x)^2 + \Delta x^3)x^3}$$

$$\Delta y = \frac{4x^3 - (4x^3 + 12x^2 \Delta x + 12x \Delta x^2 + 4\Delta x^3)}{(x^3 + 3x^2 \Delta x + 3x(\Delta x)^2 + \Delta x^3)x^3}$$

$$\Delta y = \frac{4x^3 - 4x^3 - 12x^2 \Delta x - 12x \Delta x^2 - 4\Delta x^3}{(x^3 + 3x^2 \Delta x + 3x(\Delta x)^2 + \Delta x^3)x^3}$$

Divide both sides by Δx

$$\frac{\Delta y}{\Delta x} = \frac{4(-3x^2 \Delta x - 12x \Delta x^2 - 4\Delta x^3)}{(x^3 + 3x^2 \Delta x + 3x(\Delta x)^2 + \Delta x^3)x^3}$$

$$\frac{\Delta y}{\Delta x} = \frac{-4(-3x^2 \Delta x - 12x \Delta x^2 - 4\Delta x^3) \times 1}{(x^3 + 3x^2 \Delta x + 3x(\Delta x)^2 + \Delta x^3)x^3 \Delta x}$$

$$\frac{\Delta y}{\Delta x} = \frac{4(-3x^2 - 12x \Delta x - 4\Delta x^2) \Delta x \times 1}{(x^3 + 3x^2 \Delta x + 3x(\Delta x)^2 + \Delta x^3)x^3 \Delta x}$$

$$\frac{\Delta y}{\Delta x} = \frac{4(-3x^2 - 3x \Delta x - \Delta x^2)}{(x^3 + 3x^2 \Delta x + 3x(\Delta x)^2 + \Delta x^3)x^3}$$

$\lim_{\Delta x \rightarrow 0}$

$$\frac{\Delta y}{\Delta x} = \frac{4(-3x^2)}{(x^3 + 0)x^3}$$

$$\frac{\Delta y}{\Delta x} = \frac{-12x^2}{x^4} = \frac{-12}{x^2} //$$

2) Find the integrals of the following:

$$a) \int \frac{dx}{\sqrt{cx^2+36}}$$

$$\text{Let } u = \sqrt{cx^2+36}$$

$$\frac{du}{dx} = 2x$$

$$dx = \frac{du}{2x}$$

$$\int \frac{dx}{\sqrt{cx^2+36}} = \int \frac{1}{u} \left(\frac{du}{2x} \right) =$$

$$\frac{1}{2x} \int \frac{du}{u}$$

$$= \frac{1}{2x} \left[\frac{u^2}{2} \right] + C$$

$$= \frac{1}{4x} \left[u^2 \right] + C$$

$$= \frac{1}{4x} (x^2+36)^2 + C //$$

$$= \frac{1}{2x} \int \frac{du}{u}$$

$$= \frac{1}{2x} \left[\frac{u^2}{2} \right] + C$$

$$= \frac{1}{4x} u^2 + C$$

$$= \frac{1}{4x} (x^2+13)^2 + C //$$

$$2) \int \frac{dx}{\sqrt{cx^2+13}}$$

$$\text{Let } u = \sqrt{cx^2+13}$$

$$\frac{du}{dx} = 2x$$

$$dx = \frac{du}{2x}$$

$$\int \frac{dx}{\sqrt{cx^2+13}} = \int \frac{1}{u} \left(\frac{du}{2x} \right)$$